Review of OIH_TMA_Actions_v1.0


173   #define IndTMA                "OIH_TMA _4lines_v1.1"

As you can see, there is a blank between “TMA” and “_4lines”.
The correction will be as below.
OIH_TMA_4lines_v1.1





549   2- CCI[M15] < 100 on the 1st previous candle in M15 time frame

Above conditions is for TREND UP.
I described it in a wrong way.
The correction will be as below.
2- CCI[M15] < -100 on the 1st previous candle in M15 time frame





558   M15_CCI < 100 &&

Above conditions is for TREND UP.
I described it in a wrong way.
The correction will be as below.
M15_CCI < -100 &&








635   M5_MACD_V4 > M5_MACD_V4_Pre && M5_MACD_V4_Pre > 0 &&

Above conditions are for BUY ENTRY.
Take a look at the condition – “M5_MACD_V4_Pre > 0” on above sentence, please.
OIH_MACD_2lines indicator has 4 values(3buffers) on Data Window.
v1 and v2 are for the line at sub_window.
And v3 and v4 are for histogram.
v3 is for a positive value of the histogram, and v4 is for a negative value of the histogram.
So the correction will be as below.
M5_MACD_V4 > M5_MACD_V4_Pre && M5_MACD_V4_Pre < 0 &&





Alternative of MA_CCI indicator
This indicator is simple and good.
But I hope to make it for the arrangement of the copyright.
I mean that I hope it to have below contents.
//*------------------------------------------------------------------*
//|                                 OIH_MA_CCI_v1.0.mq4 |
//|                                   Copyright 2016, OIH |
//|                         E-mail: thehera510@naver.com |
//|                                                      |
//*------------------------------------------------------------------*
#property copyright "Copyright 2016, OIH"
#property link      ""
//*------------------------------------------------------------------*

Firstly, thanks for the work again.
And I’ll pay for this work.






Indicator name : OIH_StoTrend_v1.0

Firstly, take a look at below picture, please.
[image: C:\Users\thehe\Desktop\picture of OIH_StoTrend_v0.1.png]
picture of OIH_StoTrend_v0.1

On above picture, there are 3 lines from the right side.
This indicator shows a RoyalBlue colored bar when v3 = 100 on current candle.
And it shows a Red colored bar when v4=100 on current candle.
Here, I need a section of RoyalBlue / Red colored bar happened, not just a point.
So it will need a function of ISM.

On above picture, there are 2 sections – 07.22 22:25 ~ 07.22 23:25 and 07.22 23:25 ~ 07.22 23:55.
〮 07.22 22:25 ~ 07.22 23:24 is for the section of Red colored bar.
So all candles in this section should have a certain numerical value on Data Window likely 
as below.
v6 = -10.0 on Data Window


〮 07.22 23:25 ~ 07.22 23:54 is for the section of RoyalBlue colored bar.
So all candles in this section should have a certain numerical value on Data Window likely 
as below.
v5 = 10.0 on Data Window

General Requirement(s)
〮 It should work properly with no the original indicator.


-  -
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